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CORRIGÉ DE L’EXERCICE

Fonction logarithme : ln(x)



CORRECTION

3ON SIMPLIFIE LA FONCTION 

1. Démontrons l’égalité ( 1 ):

-   + ln ( 1 + 2 e   ) = ln ( e - x ) + ln ( 1 + 2 e x )

= ln [ ( e  - x ) x ( 1 + 2 e x ) ]

= ln [ e  - x + 2 e x x e  - x ]

= ln [ e -   + 2 e 0 ].

Ainsi, pour tout réel :  -   + ln ( 1 + 2 e   ) = ln ( 2 + e -   ).

2. Démontrons l’égalité ( 2 ):

4   + ln ( 1 + e - 4   ) = ln ( e 4 x ) + ln ( 1 + e - 4 x )

= ln [ ( e  4 x ) x ( 1 + e -4 x ) ]

= ln [ e  4 x + e 4 x x e  -4 x ]

= ln [ e 4   + e 0 ].

Ainsi, pour tout réel :  4   + ln ( 1 + e - 4   ) = ln ( e 4   + 1 ).
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